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4. (I) A 1200-N crate rests on the tloor. How much work is

required to move it at constant speed (a) 4.0 m along the floor
. ' against a friction force of 230N, and (b) 4.0 m vertically?
— |

6. () How high will a 1.85-kg rock go if thrown straight up B

by someone who does 80.0J of work on it? Neglect air -

. __ resistance. ' o
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@% 45. (II) Take into account the Earth’s rotational st V

(1 rev/day) and determine the necessary speed, with res: [-\ .4

to Earth, for a rocket to escape if fired from the Earth at //

equator in a direction (a) eastward; (b) westward; (c) w / A}

cally upward. g

; j /
Sus_rispr poh— wert L

S ga h ﬁrw wert = agt \"\ ,,/

Jz{%af e JM!@/%‘?{! terte of Fit emr
L jezi = V.= ZT’,E_ =
£ 7

wwh‘A} ﬂﬂf‘iﬂ! JMM/ lﬂmafmﬁ [@rﬁy e Mo?{&n .

Wm&w&ww/‘*éﬁtr"/(’ /4

g,, wl* = Gl

R Vﬁ - : !Qg"

@ (mgider 0 roshet [ivd EASTwerd witn o dned

Ve PEWZIVE 1 5rﬁe /%/f v 76{% o balf

mf“ a__Ow _ windo; 744 balf 902 ;4}(/# /727@'6%

" m«:/wm V&A{‘ | \,“uk _

-

Ve,ergrm, = Vs U, e —= Solve @f" Vo= fodef gwf n




Vo
>

/Zlg@ CM/’&LVM Wﬂk‘”k/amhﬂw/ WEC 7/ 4ALD %
| 72/ poche] vt Wc‘m [@r\/?’ S Mﬂgw /5
\/pJ/%u = L -Ve —=  Solpe for U,

| we
N Dot 2 wetedfasmcted DP NS
| V&f;;/)/ - ng“" Vnz . (v%( /Q/L‘a <g/ ‘

7VE ) =

b k4 £ 3.
P :I':“"-]’\“MEJ




47. (I) (a) Determine the rate at which the escape velo
from the Earth changes with height above the Earth’s s

face, dveg/dr. (b) Use the approximation Av ~ (dv/dr ) p/ r K -
to determine the escape velocity for a spacecraft orbit

the Earth at a height of 300 km. = r
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